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— A market structure describes the ¢
organization that influence the behavior of firms within an indust
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red

haracteristics of market

ry.
1. PERFECT COMPETITION

ition: This is a type of market lace where there js int iti :
Agrioulo commodineg. e p ere there 1s intense competition. Example:
theoretical mode| It

competition include:
Features

1. Many buyers and

. No firm has significant power over the ma
sellers / Price Takers control the prices, hence they are said to b

0¥ | Description

rket which means they cannot

¢ price takers. The price is
i ) fixed througb the forceg of demand and supply.
2.No barriers to entry | There is free entry and exit from the market. If firms make profits more
or exit firms will enter. If firms make a loss firms will exist. There is not
restriction. i
3. Homogeneoys Products are identical. The consumer cannot differentiate between the
Product l‘&:a( products and cannot identi

fy from where the goods come from. Example
Fruits

4. Perfect Knowledée

Both consumers and producers know about the prevailing prices,
methods of production and resources in all the markets.

(1) Hence no firm can produce at a lower cost than its competitor.

(i1) Consumers will not pay a price higher than the market price.

5. Perfect Resource Resources bought by the firms for production are completely mobile.
Mobility This means that they can easily and without any cost be transferred from

- one firm to another, or from one industry to another.
Pro it m@ Xiwiechw ' Fle pVimog o five

Note: Perfect Competition is only a theoretical mddel and is mostly used for comparisons. The
closest real life example can be a fruit vendor market where nearly every seller has the same
quality and the price is the same for every fruit. If it is was to operate in th; _rc?al world th_ere_
would be maximum consumer welfare and effect production with no possibility of exploitation. )

1. Demand and Revenue Curves — Perfect Competition

P, MR, AR
P D=P=MR=AR
0' 1 234567 Q
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2. PROFIT MAXIMIZATION | SHOB;;TthI:shon-mni
Ti\ere are FLVE situations available to the firm 1
1. Abnormal or Supemormal Profits
2. Normal Profits tuce
3. Loss — the firm continues to produ .
4. Loss — with shut-down p;lu& indifferent about producing

5. Loss — where the firm will shut-down

The analysis consists of THREE steps: o
STEP 1:){dentify (MC = MR) to calculate the profit maximizing output level
STEP 2: Identify (AC and AR) to calculate the profit per umit
STEP 3: Multiple with number of units to calculate the total profit
_ Abnormal or Supernormal Profits | P> AC

2
0 MC
v ‘ A J,’C
Q =]
3 pyl== - B i
§ ! total profit = e Py=MRy= ARy =D
o
o profit
9
a
0 Q Q
When P>ATC at the level of output where MC = MR, the firm earns positive economic profit
(supernormal profit). )
Normal Profits |P=AC N
8 MC
. g ;o AlC
~ E . ‘/, .//
@ Pa™ S _;‘ T Py= MRy £ ARy = Dy
g P = break-even price
s ~— § (break-even point)
0 < Q :
The price P = minimum ATC is the firm’s break-even price. At this price the firm is breaking even: it is
making zero economic profit, but is earning normal profit. B
Loss — the firm continues to produce |P> AVC |P <AC ]
: i}
o ATC
]
2
-4
E, P3=MR3=AR3=D3
o loss
kY
G
0 Q Q

When ATC >P at the level of output where MC = MR, the firm is making a loss but should continue
producing because its loss is smaller thar} its_ﬁ?ce«j] c-:ost: This is becau;e if it shuts down the loss would be
equal to its fixed cost This way the firm is minimizing its losses since the revenue will be coving part of
the fixed cost. ]
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Loss — with shut-down price|[P=AVC|P<AC

2

]

o MC

o . ATC

S : "= AVC

c .

S | enttes d ~ Py=MRy= AR =D,

2 Pa -l loss _ AFC = short-run

a - Q shut-down price
0 Qs Q

The Price P= n?inimum AVC is the firm’s shut-down price in the short run. At this price, the firm’s total
loss is equal to its total fixed cost. At the shut-down price, the firm is indifferent an,

and not producing at all, because either way it will have a loss equal to fixed costs.

Loss — with shut-down | P < AVC |P <AC

&
S MC
s . ATC
2 - .AVC
2 4 o7
c 8 L
g P 0
g Ps|— __";- -7 Pg = MRsg = ARg = Dg
a.
Y Qs Q

When price falls below the shut-down price, so that P<minimum AVC, the firm should shut down in the
short run, and will make a loss equal to its fixed costs. If it continues production every next unit would

add to the loss.
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1n a perfectly competitive market in the long-
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3. PROFIT MAXIMIZATION | LONG-RUN

run a fim¢c
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an make only normal profits.

The industry
= Thefirm
P
) S
MC

§ | LRATC
] -
N .
é P — '; e D=MR ~——-~~ MPE —
g"* ‘
a D

0 Qs Q 0 Qi Q

There are TWO reasons for that:

1. Abnormal Profits = Normal Profits: As in the long run if firms are making abnorm?l profits
more firms will start to enter the industry this will shift the supply to the right. Th.ls shift to the
right will cause the price to fall down until only normal profits are earned.

2 Tosses => Normal Profits: If the firms are making losses, firms will start leaving the industry.

This will shift the supply curve to the left. This will increase prices which will clear losses and
this will continue until only normal profits are earned.

From economc (supernermal) profit to normal proft

- The firm

The industry
. P
a ATC . 5
o 5 MC .
2 ‘-\ ’/
o 7/ / o y
g A ms\v-@.-/__ — s - Py STk S;
o e
§ Pyl e - *"\";/—7&/:" —~ - e Pl - /j}”"" L
~ o ~D
0 Q& Q 0 Q Q
From lass to normal profit
The firm '.; The industry
P
= . mc  ATC
g . 7 S
g N *
] P |~ \\r- < i s s et Py e "7""':;,?3",- -5
e T IR
N b
0 QQ Q 0 Q@ Q Q




A2 /MICRO — |[NOTES] — CHAPTER 3

4. THE SUPPLY CURVE IN PERFECT COMPETITION

In perf.ect competition P= AR = MR and Profit Maximizing output will be were MC = MR. Hence are
firm will produce where P = MC.

Short-Run Condition | P> AVC

In th_e short-run the firm must be able to cover its AVC otherwise it will shut down because it would
making the goods (AVC) lower than the price (P) and every unit sells would be at a loss. Hence the
supply would be represented by that area of the MC that lies above the AVC.

Long-Run Condition | P> AC

In the long-run the firm must cover it AC otherwise it will not break-even. So the supply curve would be
the area that lies above the AC curve.

Price

supply
MC above
miremyem AC | Short run
LDty
Bm;:m ............. MC above

Shul down
point

‘F}rmvrilnotprodtmﬂ
the price cannot cover

-,

-
i

| oumm; a @ cost par u
5. EFFICIENCY AND PERFECT COMPETITION

In order to understand efficiency in market structures we need to look at TWQ types of
efficiencies: '

Allocative Eﬂiciency:

Productive Efficiency

‘Definition: Allocative efficiency occurs when firms
produce the particular combination of goods and

Definition: Productive (also known as techn%al)
efficiency occurs when production takes place at
the lowest possible cost.

services that consumers mostly prefer.
: -- P=MC

Production at minimum ATC

1. Efficiency and Perfect Competition | Short-Run
In the short run, the perfectly competitive firm achieves allocative efficiency but is unlikely to
achieve productive efficiency.

Allocative Efficiency Productive Efficiency
1. Supernormal Profits YES NO
2. Normal Profits | YES B YES
3. Loss YES NO

2. Efficiency and Perfect Competition | Loig-Run

In long-run equilibrium under perfect competition, the firm achieves both:
1 Allocative efficiency (P = MC)

2. Productive efficiency (production at minimum ATC).
This is because in the long-run a perfectly competitive firm can only earn normal profits.
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Due o

f Perfect Co

lency: Perfect competition leads

to the best or ‘optimal’ allocation of resources
based on the mix of goods and services that
consumers mostly want.

effici  Perfect competition also
Jeads to production at the lowest possible cost,
avoiding waste in the use of resources.

- Consumers benefit

from low prices, due to production at the lowest

possible cost and absence of economic profits in
the long run.

inefficient producers: Inefficient firms are those

Inefficiency could be due to factors like less

e xc Wg_‘f‘%that produce at higher than necessary costs.
(

chFe

productive labor, or the use of outdated
technologies, or poor entrepreneurship. The
revenues of inefficient firms are insufficient to
cover al) costs, leading 10 losses 1hat Torce these
firms to leave the industry in the long run.

5. The market responds to consumer fastes:
Changes in consumer tastes are reflected in
changes in market demand and therefore market

price. There for the firms focus on that to maximize
profits. -

resource prices: If there is an improvement in the
technology of production, or-a-change-inreseurce
prices, the cost curves will shift upward or

downward, leading to economic profits or losses,
once again leading to new long-run equilibria that
accommodate the changes.

Advantages and Disadvantages O
Advantages

W
~{Jnrealistic assumptions: The model rests OF

A2/ MICRO — |NOTES| — CHAP

m

1. | ]
strict and unrealistic assumptions that are rarely

met in the real world.

i - In perfect
cdmpetition the requirement that the firms are
many and small prevents them from growing to a
size large enough to take advantage of economies
of scale.

iety: All firms within an
industry produce identical or undifferentiated
products. This is a disadvantage for consumers,
who prefer product variety.

: The lack of
economic profits in the Jong run does not offer
firms the necessary funds to pursue

rene r:ie?rch and

(¥

development. ¥ ® ?OW (s

5. Market failure: Even if it were possible to meet
all of the assumptions of the-perfectly competitive
market model, there are numerous real-world
situations where resources are allocated 5 l’o lQ
inefficiently because of market failures. QU+ 1
thewe Can be over v Prod
ﬁ.ﬂasm_ummumcs_inﬂm_pmgess_oﬂong:mn’ é
adjustment: It is possible that the continuous
opening and closing of firms as the industry
responds to changes in dem and, resource prices
and technology in the long run may lead to a waste
of resources (the model unrealistically assumes
there are no costs of adjustment).
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TOPIC 2: MONOPOLISTIC COMPETITION

Definition: This is a type of market structure in which there are many firms but each firm
produces a product that is slightly differentiated from that of others. Examples: Retail clothing
stores, restaurants, mobile companies etc. Features of monopolistic competition includes:

| Feature / A;mpm Fjopy | Description 7
1. Large number ot This is similar to perfect competition, where the large firm number
firms ensures that each firm has a small share of the market, and that each

firm acts independently of the others. They compete in the form of

_ _price and non-price competition. _

P. No barriers to entry | This assumption is also similar to perfect competition in that there are

and exit no significant barriers to entry of new firms into the industry.
3. Product " | Unlike in perfect competition, where firms in each industry produce an
differentiation identical product, in monopolistic competition each firm produces a

product that is different from any other. Product differentiation can be
achieved by physical difference, quality difference, location, service

) quality, brand image efc.

4. Price Makers Firms have some influence on the market price and therefore price

_ makers. ) |
5. Profit Maximization | Each firm seeks to maximize profits _

1. Demand and Revenue Curves — Monopolistic Competition

.

4\\\\ PP &
\ N o

price, costs, revenue

A}
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1. PROFIT MAXIMIZATION | SHORT-RUN

There are THREE situations available to the firm in the short-run:
1. Abnorma or Supernormal Profits

2. Normal Profits

3. Losses

The analysis consists of THREE. steps:

STEP 1: Identify (MC = MR) 10 calculate the profit maximizing output level
STEP 2: ldentify (AC and AR) to calculate the profit per unit

STEP 3: Multiple with number of units to calculate the total profit

Abgorr;al or Supernormal Profits |P >;AC

ES| — CHAPTER 3

economic
(supernormal)

H

c

[

>

u

g e

Cd

o

v

o

2

=4 - A%

0 Qe \ Q
MR

- R, th - i p

Normal Profits | P= AC

o

2

S Y MC

] W™\ ; {\‘TC
- RSN

'E Pe ,,——A.\-———\! _ / A_/_,/

o Y

V] \ AL

o A

v N\ LA ™~

= /}' .

a I\ ~ D= AR

0 Qe Q

- N . . - MR
The price P = AC is the firm is breaking even. It is making normal profit.

Loss — the firm continues to produce |[P>AVC|P<AC

-}
L]

price, costs, revenue

0

When ATC > P at the level of output where MC = MR, the firm is making a loss
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2. PROFIT MAXIMIZATION | LONG-RUN

In monopolistic competition the firms can only make normal profits in the long run. In
monopolistic competition, in the long run, profit- making industries attract new entrants; in loss-
making industries, some firms shut down and exit the industry. The process of entry and exit of
firms in the long run ensures that economic profit or loss is zero and all firns eamn normal profit.

price, costs, revenue
a°

0 Qe Q
MR

L_Abnarmal Profits = Normal Profits: Presence of abnormal profits make new firms entre the market. These new

firms that entre attract customers away from existing firms which shifts the demand curve to the left until it becomes
tangent to AC curve. Hence the point where AR=AC (Normal Profit)

5 Losses > Normal Profits: Presence of losses will make some firms leave or shut down completely. As they do
their customers shift to the remaining firms, hence increasing their demand. The demand continues to shift right
wards until it becomes tangent to the AC curve. Hence the point where AR=AC (Normal Profit)

3. EFFICIENCY AND MONOPOLISTIC COMPETITION
In order to understand efficiency in market structures we need to look at TWOQ types of

efficiencies: ) _
" Allocative Efficiency _ ~_Productive Efficiency
Definition: Allocative efficiency occurs when | Definition: Productive (also known as
firms produce the particular combination of technical) efficiency occurs when production
goods and services that consumers mostly takes place at the lowest possible cost.
prefer.
P=MC Production at minimum ATC

1. Efficiency and Monopolistic Competition | Short-Run
In the short run, the monopolistic competitive firm achieves neither allocative efficiency nor
productive efficiency. This results in under allocation of resources (P>MC) and average costs are

higher than the optimal (not production at the min of AC curve).

Allocative Efficiency Productive Efficiency
1. Supemnormal Profits - NO NO
2. Normal Profits ] NO _ I\ ()
3. Loss - NO [ " No

2. Efficiency and Monopolistic Com petition | Long-Run
[Same as Short-run]
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4. PERFECT COMPETITION VS. MONOPOLISTIC COMPETITION

MC 3 ATC
Q. : ‘q:; P, e

g \\ - ATC E

c N f / v

1) ~ e >

3P e 2

-e P=MR=pP, | ©

g g = AR

8 _ &

L 0 Q
0 Qe Q

The difference between long run equilibrium in the markets with monopolistic competition and markets with perfect
competition. There are THREE insights:
Insight Description a _

L.LP>MC In monopolistic competition P > MC which shows produces can charge a

_ markup. ) )
2. ACis NQT at its min This shows that there is excess capacity or inefficient scale of production.
[Excess Capacity] Hence the Area from Qe Qc shows excess capacity. This is because of
product differentiation whic

3. Pmc>Prc

h results in the downward sloping demand curve.

Price in Monopolistic is greater than Price in Perfect Competition This is
because of product differentiation. Since consumers might be willing to pay a
higher price for the variety of goods. i

H‘! C | \/\IhQV) 'H'Q

upp :
i %ﬁ};ﬁ; 70,,?)@ r,;/
| Yo MOnopo )i

\ (T

dpmage o
. ymev
Twhierféo njj’
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I1GOPOLY

An oligopoly is a market structure where a few firms dominate a market.

i}rl&:i ?t;r:r :rf:r l(:::ly a few ﬁnns-the actions of one can have a significant effect on the behavior

b '|‘ re is no one price and output in oligopoly. Firms are interdependent and firms’
vior wn.l depepd on what it thinks the others are going to do. Examples: Oil

pharmacegt:ca.ls, aircraft manufacturing etc. Therefore, we will examine IH_REé different

models with different assumption, each will have its own price and output decisions

1. Non Collusive Model of Oligopoly: Kinked Demand Curve

2. Collusive Model of Oligopoly

3. Oligopoly and Game Theory

The features of oligopoly will include: _ -

Featu res
1. Small

mber of firms

Desgription

M ere are few firms with different sizes _

2. High barriers to entry

It is difficult to entry the industry because of several reasons like,
high start-up costs, aggressive advertising or takeover potentials,
product differentiation, legal barriers like patents, large economies of

scale etc. ) -

3. Products might
differentiated or
homogeneous

Differentiated products include pharmaceuticals, cars, aircraft,
breakfast cereals, cigarettes, refrigerators and freezers, cameras, tires,
bicycles, motorcycles, soaps, detergents. Homogeneous products are
fewer; examples include oil, steel, aluminum, copper, cement.

4. Interdependence

* MOQ |

|rivals. -

Decisions taken by one firm affect other firms in the industry, so they
depend on each other. IT any one firm changes its behavior, this can
~———act on the demand curve facing the other firms.

f the actions of their rivals. They
th anticipating the moves of their

have a maj
Therefore, firms are keenly aware 0
make strategies to compete along wi

5. Price Rigidityi

The uncertairjg and risks associated with price competition may lead
o price rigidity which means:
Id follow as there are substitutes -

(i) If price goes up no one wou
(ii) If price goes down all firms will reduce the price hence there is

no incentive to change the price. ) ]
imize profits. It depends on the

6. Profit Maximization is

Firms may or may not choose to maxi

| situation of the market. ) ) _

i optional _
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1. NON COLLUSIVE MODEL OF OLIGOPOLY: KINKED DEMAND CURVE

: This is a model where the firms do not agree, whether formally or informally 10

fixed price or collabome in some way.

1. Demand and Revenue Curves — Oligopoly: Kinked Demand Curve

The model is based on THREE assumptions: ]
1. If the price increase other firms will not follow, this leads to an elastic curve above point Z

2. If the price decrease other firms will follow, this will lead to an inelastic curve below point Z.
3. Therefore the price would be fixed at Pi.

QV‘éSJ“U’
O‘qm()’

2 The Kinked Demand Curve
In the kinked demand curve model, each firm perceives the demand curve it faces to be elastic for prices above P1

and inclastic for prices below P1. If one firm raises its price above P1, the others will not follow; if it lowers its price
below P1, the others will match the price decrease. In either case, the firm will be worse off. Therefore, no firm
takes the initiative to change its price, and they all remain ‘stuck” at point Z for long periods of time.

Above Z -» Elastic P4 TRV Profits

Below Z - Inelastic PV TRY Profits v

3.The broken MR Curve
The broken marginal revenue curve occurs exaclly at the point of the kink in the demand curve, and is a reflection of

the abrupt drop in marginal revenue at the point where the demand curve suddenly bends.

4. Profit Maximization | Kinked Demand Curve Model
The kinked demand causes a discontinuity in the MR curve. Hence changes between MCi1 and MCz2do not change

the profit maximizing price and output. Hence prices are likely to be relatively fixed despite cost changes. The profit

maximization point would be:
MC = Broken part of MR curve

5. Key Points of the Kinked- Demand Curve Model
| Key Point - Description
1. Take actions of rivals into consideration | The risk of lowering their revenues and profits, which in tum could
when deciding price. lead to price instability. The kinked demand curve model illustrates the
interdependence of oligopolistic firms.
2. Price Staﬁty, without collusion Firms are reluctant to change their price because of the likely actions
of their rivals, which could result in lower profits for the firm initiating

price changes.

3. Non-Price competition They do not try to increase their sales by attracting customers through
lower prices. Rather they focus on more non-price competition.

adverting, research and development etc.

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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2, CO-L.LUSIVE MODEL OF OLIGopoLY

firms to Jjm;

adopting a formula for
because it works

to limit compet
1. Formal Collusion - Cartels

A collusive m
y com| » INCrease monopol
™m of Fgl]usmn Involves price-ﬁxing agre

some fixed amount, fixing

calculating prices, and others. Collusi

ition. Collusion has TWQ

2. Informa Collusion - Price leadership

1. Formal Collusion -

2Aca
COmpetition in order to increase profits. In cartels firms work
aim to maximize profits. They fix a profit maximizing price a

through i

1. Limiting and fixing the quantity to be

Cartels

produced b

2. Fixing the price at which output can be sold

3. Setting restrictions on non-price competition (such as advertising)

4. Dividing the market according to geographical or other factors
5. Agreeing to set up barriers to entry

odel in oligopoly refers to an agreement between
Y power and increase profits. The most common
¢ments such as by holding prices constant at some
price differences between different products,
on is illegal in most countries,

types:

rtel is a formal agreement between firms in an industry to take actions to limit
together to act as monopolistic firms that
nd output. Example: OPEC This is achieved

y each, which results in an increase in price

Note: However in cartels the firms have an incentive to cut their own prices and exceed thei_r quota limit
to increase their profits at the expense of the industry. Hence unless there is an effective policing
mechanism which ensures that firms are not producing too much or cutting price cartel can work.

¥ T

ya

Y4
D

MC, = .!IC" « MC,

MC,
MC, ac,
8 -
g [ ] »
-PE HE
2x
é D
- LR R R
3 [
(3]
|
!
I »\ 0O N v
? Q MR X

market share.

noted here is the Q is the profit maximizin
among firms in the form of Q1 and Q2. In
their previously held market share a

some markets firms tend to
nd some firms just compete using

Note: The diagram for cartel is exactly the same for a profit maximizing monopoly. What should be

g output for the industry. This output would now be divided
Just divide it on the percentage of
non-price competition to gain more

| Lecture 3 |

AATIK TASNEEM | A2

-LEVEL: ECONOMICS (9708) | 03041122845

B



2. Informal Collusion - Price leadership
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ion: Informal collusion or tacit collusion refers to co-operation that
tween the co-operating firms, without a formal ag.refemen't. The .
usions are also to co-ordinate prices, avoid competitive price-cutting,
uncertainties and increase profits. It also attempts to bypass the
legality of formal collusion (cartels).

is implicit or understood be
objectives of informal coll
limit competition, reduce
obstacles created by the il

ip: This is where a dominant firm in the industry (which may be the
largest, or the one with lowest costs) sets a price and also initiates any price changes. The
remaining firms in the industry become price-takers, accepting the price that has been established
by the leader. The informal agreement binds the firms as far as price goes, but they are free t-o
engage in non-price competition. A characteristic of price leadership arrangements is that price
changes tend to be infrequent, and are undertaken by the leader only when major demand or c.:ost
changes occur. Examples of industries that have at different times followed the price leadership
model include US Steel, Kellogg’s (breakfast cereals) and R. J. Reynolds (cigarettes).

A MCB

o

o Paf---- 3

5 \

) H

¥} )

£ >
' .:
Poh
 t1 MR
Qb1 Qa

Quantity

In price leadership firm A has a lower marginal cost (MCa) and firm B has a higher marginal
cost (MCs). Hence firm A is the leader and firm B must follow that price. If firm B continues to
sell at a price higher than Pa (at price Ps) it loses sales to firm A and wquld mak? even more
losses. If firm B reduces the price from PA firm A wou{d follow tha't price and since firm A has
lower costs firm B can’t win in a price war. Hence in price leaders_hlp the firm with the lower
cost sets the price and other firms follow it. The best course of action for B would be to produce
quantity Qb1.
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Non-pri
ce COm e ita N »
Sometimes in olii)gct)l;lo(;; ;-n oligopoly
irms .

compete these are called non- lzefer not to.c,ompetq on price but looks for others means to
makes all the firms of an indupt ce compf:tmon. This is done because they know that a price war
price war may even lead stry collectively worse off due to lower prices and lower profits. A
in oligopoly are bette ﬂt_o prices lower than average costs, leading to losses for the firms. F irms
not collude they still ;‘vo ‘dcoordmatmg their pricing behavior where they can, and when they do

oidc iti i : i
competition are: ompetitive price-cutting. The most common forms of non-price

llVl}e)thgd Description

* ro . . . . - -,

differe utCt . !’r oduct differentiation can increase a firm’s profit position without creating risks for

ntiation | immediate retaliation by rivals. It takes time and resources for rival firms to develop
difficult to engage in a ‘new product war

new competitive products. It would be very

as opposed to a price war, in which price cuts can be ly matched or

very quick

crease their monopoly

: exceeded by rival firms.
2. Advertising | Firms that can attract customers by use of these methods in )
and branding power and their ability to control the price of their product. They can charge a higher

~ price without risking loss of buyers o rival firms.
3.R&Din Research that leads to new and/or better products can help the companies develop
product USPs which can be patented and even create barriers to entry further increasing the
development dominance of the firm in the market. . —

lets to prevent competitors from selling in this

4. Distribution | This is controlling the distribution of out

) market.

more likely / Cheating less likely
it is easier

ly few firms in the market to check on each other and

Factors that make collusion
1. Few Firms: If there are on
share information.

2. Trust: If the firms trust each other they are ' ]
3. Similar Cost Structure: The closer the firms, lesser the incentive they have to cheat since no
firm would be able to assume a competitive edge using price. ... - 0

4. Clear Leader SR h DU g iaEEIED
5. Agreement can be policed .
6. High barriers to entry: This would remove the danger from new entrants
7. Stable cost and demand conditions

8. No government intervention

Concentration Ratio |
tio provides an indication of the percentage of outpnt produced

Definition: A concentration ra

by the largest firms in an industry. There is no fixed number of firms for which a

concentration is calculated. kor example, we could say that the 3-firm concentration ratio of

industry X is 78%, which means that the three largest firms of industry X produce 78% of the

industry’s total output; or the 4-firm concentration ratio of industry Y is 45%, which means that
dustry’s total output. Concentration

the four largest firms in industry Y produce 45% of the in
ratios are used to provide an indication of the degree of competition in an industry. They

suggest that the higher the concentration ratio, the lower the degree of competition, while a
low ?oncentration ratio would indicate a greater degree of competition. In general, an i;dustry is
considered to be oligopolistic if the four largest firms control 40% of output (Thi; is an arbit
cut-off point, as there is nothing special about a concentration ratio of 40% ) -
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3. OLIGOPOLY AND GAME THEORY
Definition | Game Theary: Game theory,

decision-makers who are dependent on each other, and who use strategic be

A2/MICRO — [NOTES| — CHAPTER 3 ¥

a mathematical technique analyzing the behavior of

havior as they try to

anticipate the behavior of their rivals. One model of this strategic game is called prisoner’s

dilemma.

Definition | Prisoner’s Dilemma: Prisoner’s dilemma, showing how two rational decision-

makers, who use strategic behavior to maximize profits by trying to guess the rival’s bf:havior )
may end up being collectively worse off. The final position that results from the game is called a

Nash equilibrium.

Definition | Nash Equilibrium: This is reached when the choices of all firms are such that there

is no other choice that makes any firm better off i.e. (increases profits or decreases losses).

Two prisoners A and B are believed are believed to have committed a serious crime. However
the prosecutor does not feel that the police has sufficient evidence for a conviction. The prisoners
are separated and offered the following deals (this is shown by the payoff matrix):

Prisoner B is silent

Prisoner B confesses

. | Prisoner A is silent

A gets 6 months

A gets 10 years

B gets 6 months B goes free
Prisoner A confesses A goes free A gets 2 years
B gets 10 years B gets 2 years

The Nash Equilibrium is for both

prisoners is to confess (each get a 2 year sentence). Although

the best overall outcome would be for both to remain silent and get sentences of 6 months.
owever this is not a Nash Equilibrium since either prisoner can improve this situation from

|

-2 / [Silent/Stlent] by confessing as then he can go free.

[Confess/Confess] is the Nash Equilibrium since neither prisoner can on its own reduce the
sentence by changing to silence. In other words whatever the other prisoner chooses the best

sentence for a prisoner comes from confessing.

éame theory to understand oligopoly
A two-firm oligopoly game can be designed where the equilibrium outcome is for both firms to

cheat on a collusive agreement by charging a low price, even though the best overall outcome is

for both to honor the agreement and charge a high price.

Firm-B (Honors) Firm B (Cheats)
Firm A (Honors) .| Aeamns 150—}7 ‘ Aeamns50 -
\™ | Beans 150 / Bearns 200 " -
Firm A (Cheats) b Aeamns200 ¢ /, Aearns 100
B earns 50 B earns 100 '

Assume the firms have agreé& to both charge a high price. The Na

sh Equilibrium is for Firm A

and Firm B is to cheat and charge a lower price This is the only combination for which neither
firm can on its own change its action to improve its profits. The profits are greater in
[Honor/Hopor] but either Firm A or Firm B can improve profits from 150 to 200 by cheating on
the agreement. Hence this proves that if firms can enter m&g?kmem to restrict output and

charge high prices and share the resulting profits they are better off.—
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4. EFFICIENCY AND OLIGOPOLY

amam I IYEENCAINY
||'uluu' N AIIRE P RIIN

In order to und -
e -
rstand efficiency in market structures we need to look at TWQ types of

efficiencies:

Allocative Efficiency

Productive Eﬂicienci

f_)_eﬁnnmn_ Allocative efficiency occurs when
irms produce the particular combination of

goods and services that consumers mostly
prefer.

P=MC

Definition: Productive (also known as
technical) efficiency occurs when production
takes place at the lowest possible cost.

Production at minimum ATC N

Efficiency and Oligopoly

Oligopolies are neither allocative efficient nor productive efficient. This results in:
. Under allocation of resources (P>MC) and
Average costs are higher than the optimal (not production at the min

of AC curve).

Some economists believe that oligopolies are even less desira
government regulates pure monopolies whereas oligopo
those under pure monopoly yet give the outwardfappeamnce:of competition.

ble than pure monopoliesibecause
lies may yield price and output similar to

Advantages and Disadvantages of Oligopoly

Advantages

—

Qisad;/amtages

:ijnomiﬂs_oiscalﬂl These can be achievedziue

to the large size of oligopolistic firms, leading to
lower production costs to the benefit of society and
the consumer (through lower prices).

z_gmdmr_dﬂejgpmcmand-lmhm]ﬂgm
innovations: These can be pursued due to the large
economic (su fits from which- '
research funds can be drawn. This benefit of
oligopoly is more important than in the case of
monopely;-sinee nen-price competition forces firms
to be innovative in order to increase their market

share and profits.

efficiency: This lowers costs of production may be

- " s
passed to consumers in the form of lower prices.

yariety: Thus providing consumers with greater

1_Not efficient: Neither productive nor allocative
efficiency is achieved.

2. Under allocation of resources: Higher prices are
charged and lower quantities of output are :
produced than under competitive conditions.

3_X;mnﬂinmm¥- There may be higher production
‘wosts due to lack of price competition (X- I
inefficiency)o ] an lO wept colt
Cyvve Vj o
4_Lack of regulation: Many countries have anti-
monopoly legislation that protects against the abuse
of monopoly power, the difficulties of detecting
and proving collusion among oligopolistic firms
‘means that such firms may actually behave like
monopolies by colluding and yet may get away
with it. '

choice (monopoly does not offer product

I Lecture 4

| differentiati
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TOPIC 4: MONQPOLY (¢ Mnpoys)

Refinition: A monopoly is where a single firm controls the entire output of the industry. This is

calted a pure monopoly. In other words, if a firm has a dominant market share it is considered as
{,' a monopoly usually more than 25% of the market share.
\

f The features of monopoly will include:
% Features Description

02 / 1. Sing!e seller When there is a single firm prodijcing a good or service for the entire market, it
0 (t>_r dommant> is called a pure monopoly. The firm is therefore the entire industry.
,ti l@“”j irm ,

y substitute good, in which case there would no longer be a monopoly for the
f Vnoﬂ)f good in question. Therefore, the monopolist produces a good or service that has

no close substitutes.
r oW’ 3 ’

barriers to D\
entry

4. Price maker_)

2. No close If substitute goods existed, then consumers could easily switch to buyinga
3 SOY | Substitutes. ) y
)

The absence of competitor firms partly to the inability of other firms to enter

the industry. Anything that prevents other firms from entering the industry is
called a barrier to entry.

The firm has a lot of control over the price and hence the demand curve for a
_monopoly is inelastic and downward sloping

Sources of Monopoly power / Barriers to entry ) -
Source Description .
1. High Start-

The markets that monopolies usually operate in require a lot of capital investment in order to

up Cost 1{_ achieve the minimum efficient level of scale of production, then it would be difficult for new
U’ Hl@(,( C9T | firms to enter the industry.
AL

hg 5 , N
H,( If the costs are sunk this would mean that the initial hi gh costs could not be recovered by the
- b i kCQ . firm if the firm was forced to exit the market. This would make new firms less likely to enter
n | NN o M Q\L: 1(M the market. _ ]
b 0 0 2. Control over | Monopolies can control a signiﬁcaqt_ptqpplt_ic[l_gj_thg‘supp]yohﬁaw material. This can be
0 sources of done by control the distribution contracts, patents etc.

NQVIapa L"j supply _
? 3. Legal —Fhese-tnelude rights over new invents, processes, intellectual property rights for a period of
Barriers time preventing others from using them. Examples of these legal barriers can be patents,
licenses, copyrights, public franchises. |
4. Economies | Established firms experience significant economies of scale which enable them to produce at
of Scale low unit costs. New firms will not immediately be able to benefit from these economies of
scale and so existing firns may be able to charge low prices with which new firms could not

compete (This is called predatory pricing). EOS also result in the downward-sloping portion
of a firm’s long-run average total cost curve (LRATC)

5. Brand Brand loyalty is usually to sustain monopoly rather than creating it. If a brand becomes

Loyalty popular and people identify it with a produce then this may create a loyalty to the product
preventing customers to shift. Examples: Coca-Cola, Nike etc. . N

6.:l:egal In several countries public utilities such as water, postal services and nationalized industries

Protection are given monopoly status by the government. : _ -

7. Mergers and | A firm usually becomes a monopoly by combining its business (merger) or buying out

Takeovers another business (takeover) to gain more control over the industry. Usually old firms
takeover the new firms. .

8. Location Some businesses have monopolies in a particular area. Example: Small shops and post

offices in a remote town.
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1. Demand and Revenye Curves — Monopoly MC

(7]
=}
c
()]
>
E
w
e
v
o]
v
)
Y
o
a
0 Qe \ Q
MR

1. PROFIT MAXIMIZATION | SHORT-RUN

There are THREE situations available to the firm in the short-run:

1. Abnormal or Supernormal Profits

2. Normal Profits

3. Losses

The analysis consists of THREE steps:

STEP I: Identify (MC = MR) to calculate the profit maximizing output level
STEP 2: Identify (AC and AR) to calculate the profit per unit

STEP 3: Multiple with number of units to calculate the total profit
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%al or Supernormal Profits | P>AC 7

3
§ \.'\ " Me
ol
2 \
2 profit i, 3
R P :
& ‘MR D=4R
0 Qﬂmax Q
When P >
P> ATC at the leve] of output where MC = MR, the firm eamns positive economic profit
Supernormal profit),
—_— 7
I Normal Profits | P = AC 7
(V]
g
g . MCarc
@ R 2
) NN
8 \ v
& \ /
[ N
kY
a T D= AR
0 Qe \"-\7 Q
MR

The price P = AC is the firm is breaking even. It is making normal profit.

Loss — the firm continues to produce |P>AVC|P<AC
MC

. | a1C
N

\ MR “D=AR
0 Qimin’ Q
When ATC > P at the level of output where MC = MR, the firm is making a loss.

price, costs, r,eve!nue
o

2. PROFIT MAXIMIZATION | LONG-RUN . .

A monopoly is able to keep the potential rivals out of the market w1t}3 natural and.amﬁcxal .
barriers to entry. Therefore, a monopolist is able to ear same economic profits as it was eaming
in the short-run (Supemormal, Normal and Losses). The profit would be determined upon the
costs it is facing and the price it can charge for its product.
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ey
3. NATURAL MONOPOLY \
Definition: A natura] mono
for the single firm a]

firms. It exits where
more than one firm o

Poly is a firm that has economies of scale so large that it is poisrl:le
One to supply the entire market at a lower average cost than two o}: m .
it would be inefficient and a wasteful duplication of resources if there
perating in the market, Example: Public utilities, railways etc.

Natural monopolies usual]

’ i mies of
y have high startup-costs and because they experience econo
scal

) ion is only achieved at
€ over most of their production the minimum efficient scale of grod:;t;?g ;?0(;?”2 through its
an extremely high level of output. Hence making the LRAC cul'Vtt)3 10\:/Vbecause it has to cut the
length which means that the associated LRMC would always be belo

LRAC at its minimum.

costs

(o]

minimum efficient
scale

Profit Maximizing in Natural Monopoly

1\

0 Q. Q, Quantity

' i il
i =MR, but this output w1
imizing monopolist will produce at point Q where MC=MR
The profit maximi

ies of scale to be obtained.
benefits of the economies 0
not enable the full

itha

i s at an output of Q1 wi

iti here P=MC which occur o

i ient position occurs where atanouputo’

e a”ocaltwel;ﬂ}];;f\?evper P sovermer be]O\: tl:l: I;&[:Sezrl:/lice is sufficiently important to
. oo i t thinks tha .

price equa refore if the governmen ! s

OPefafm_g z:itatlglsiss' ;;rl'll']:e it must take it into state ownership or provi

be provided a

Lecture 5

m QNap U
/

ey t
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ost at different prices

‘ W‘ 4. PRICE DISCRIMINATION <t with same ¢
4

finition: It is a situation where a firm sells the same prod_l}_

e : UL : ‘cerimination:
@Y7/ in separate markets There are several conditions necessary for price discn

2/ Condition 2727 77"~ Description - ——"
21 Monopoly Power The firm must exercise some rponopoly power In the market
meaning the firm must be a price marker. p—r
=71 2. Separate the two markets | The firm must be able to keep the two markets sperate exampic.
Student vs. Professionals, Children vs. elders etc. ]
M 3. Prevent Re-Sell It should be possible to buy in one marke_t and re-sell In thek t
L other. Otherwise people will tend to buy in the cheaper mar €
C°“d ‘\-\0\0 and sell it in the expensive market. (Prevent arbitrage)_:_._’__._,
X 4. Different PEDs in different | This would allow the firm to charge a high price to the melasttlc
markets consumers and low price to the elastic consumers. Examples:

More rates on peak hours and cheaper rates on off-peak hours.

THREE Types of Price Discrimination
1. First-Degree Price Discrimination

2. Second-Degree Price Discrimination
3. Third-Degree Price Discrimination

w pet 1. First-Degree Price Discrimination wi L fV‘ﬂM Yo P U/%’

A Definition: This occurs when the monopolist charge each individual consumer the maximum
amount they are prepared to pay for a product. Individuals with spare tickets for major sell-out
concerts and sports events will try to bargain with potential buyers to try and estimate the
maximum they are prepared to pay. If first degree price discrimination is successful the whole
consumer surplus will be eliminated.

A

Price (9)

-

Ouantit;

As we see from the diagram that if all four units were sold at the same price the total revenue
would be $40 [$10 x 4] however if each unit was sold at the maximum price the total revenue
would be $70 [$25 + $20 + $15 + $10]
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2. Secf)fld-D;]%.ree Price Discrimination

Definition: This o

rice is charged fg‘;cf‘;‘:h‘:rhzg -cl)ncse price is charged for some uni
: its. Some compani i

and then lower prices for the rest. panies charge & hieh

ts of the product and a different
price for the first block of units

(D)mm Orscrmenaton

Price 1) W P Dscemnzon
' Price
i = ,200
| 52,000 Profit= 33,2
100 PN\ Ny Profit = $2.400 ”0' " }“'»].200
20 A 90 DWT.
AV MC = ATC 70 . MC = ATC
: D
) MR . | , )
50 Quantity - S0 110 - |9l5 Quantity
mizing price is at $100 at a quantity 80. This

Diagram (a): In the first diagram the profit maxi
makes the overall profit $2400 (30 x 80).
ble to separate the consumers. It charges one

60 units to another group at price $90.

nd diagram the firmis a
s from $80 to $1 10 units.

IIs an additional
d the total output increase

Diagram (b): In the seco
group $110 and sells them 50 units and se

The total profits increases to $3200 units an

fy produce by a

mpetition, the quanti
resented by the

uced under perfect €0
Jus by an amount rep

the QUant}ty prod
and producer surp

Nate: Compared to
the sum of consumer

monopolist reduces

triangle DWL.
Consumer surplus reduced not only by the decreaseé _ip_qqantity but also by the

1. Diagram (2): _
perfect competition.

increase in price relative to

nsidered inefficient because the reduction in output c;_o_n)p_ared to perfect
Since MB > MC less then

r and producer surplus.

2. Monopoly is €0
f the good.

competition reduces the sum of consume
efficient quantity of resources aré allocated to the production 0
y increasing output toward the

Diagram (b): Price discrimination reduces this inefficiency b

3.
guantig where marginal benefit eguals marginal cost.
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3. Thi‘rfl-De]g_;?e Price Discrimination
Definition: This refers to the selling of the same product in different markets to different

consumers at di ‘ irline ti
oy gt s tffereg.tfpnc:es. Exan.1ples: Airline tickets, public transport (different age groups
es), different rates in foreign and domestic markets etc

P ____._\)) eUAL’_fL , €l05h V2

i\

0 Q \ Q

MR, ) Q0
. Market] .
.. Market 2 -~ Market 1 and market 2

Assume there are tWo consumer groups (or two markets) for product X, distinguished from each
other on the basis of differing PEDs. f
- Part (a) shows the consumer group of market 1 to have a relatively inelastic demand (low PED)
- Part (b) shows the consumer group of market 2 to have a relatively elastic demand (high PED).

The two marginal revenue curves are added horizontally, leading the total market marginal
revenue curve in part (c), which also shows the firm’s marginal cost curve. To maximize profit,
the firm equates market MR with MC, thus finding the profit-maximizing level of output Q3.
Output Q3 must now be divided between the two markets. The firm does this by equating its MC
of the total market with the MR of each individual market:

- Output Level Q1: MC = MR1. This determines output level Q1 in market 1, sold at price P1

(given by the demand curve D)= 7~ | |
- Output level Q2: MC= MR 2. This determines the output level in market 2, sold at price P2

(given by the demand curve D2).

This shows that: _ . . .
1. A higher price (P1) for the consumer group with relatively inelastic demand

2. A lower price (P2) for the consumer group with relatively elastic demand.

Note: Third-degree price discrimination results in higher revenues and profits for firms. If profits
did not increase, firms would not practice price discrimination.
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monopoli

stto o

o Perate even j

theer stru’cmres won't ws nk|
Y won’t be able to coverr

3 markets where
ue to losses since
the costs.

were ey 2 Poor people
able to afford the product p‘:evi»;:;)ly

can now d i

brices to %: “f?: ;:;ce the firm can charge higher
umers and low i

Fest. Example: Healt ooy er prices to the

3!--Rﬁé’.ft:1l:¢:h_a.nd_D_ey;:lapme‘m‘ Pri
discrimination allows firms to enl:i]c;:;
;Ugl:)monnal profits which will be used in
Wh_Chanqllp;oduct and process innoyation
ich will benefjt th ]
b encll e agsfvove £O €
4_FEfficiency: If output increases, then under

i ion
: Disadvantages
1. Higher Prices: Some consumers might end

up paying higher price forcing them to
discontinue the product. This also reduce the
consumer surplus

- Firms tend to eam

supernormal profits at the expense of consumer

surplus.

3. Welfare loss for some consumers as
consumer surplus is removed.

4. Some individuals pay higher prices.

5. Low income earners cannot afford the

product.

certain conditions allocatjve-cfficiency will
also improve.

In order to understand efficiency in marke

t structures we need to look at TWO ty

pes of

efficiencies:

) Productive Efficiency

“Allocative Efficiency
Definition: Allocative efficiency occurs ‘when
firms produce the particular combination of
goods and services that consumers mostly

| prefer.
P=MC

Definition: Productive (also known as
technical) efficiency occurs when production
takes place at the lowest possible cost.

—_—

Production at minimum ATC

|

y | Short-Run

1. Efficiency and Monopol
Jistic competitive fi

In the short run, the monopo

productive efficiency. This results in under all
I (not production at the

rm achieves nei
ocation of resourc
min of AC curve).

ther allocative efficiency nor

es (P>MC) and average costs are

higher than the optima
Allocative Efficiency Productive Efficiency _J
1. Supernormal Profits NO NO |
2. Normal Profits NO NO |
3. Loss NO NO B

2. Efficiency and Monopoly | Long-Run
[Same as Short-run]
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. Thil‘ - 3
' . d De%l';ee Price Discrimination different
— Is refers to the selling of the same product in different markets 10
"Mers at different prices
Pay different r.

‘ ge groups
ates). di - Examples: Airline tickets, public transport (different ag€ 5
), different rates in foreign and domestic markets etc.
Pr— b 91’6\,’\(

elpbt o

E—

—

. - A

1 Q0
- Market |

= Market 2 - Market 1and market 2
Assume there are two

. consumer groups (or two markets) for product X, distinguished from each
other on the basis of differing PEDs. o g
- Part (a) shows the ¢

onsumer group of market 1 to have a relatively inelastic demand (lovv PED)
- Part (b) shows the

consumer group of market 2 to have a relatively elastic demand (high PED).

The two marginal revenue curves are added horizontally, leading the total market marginal
révenue curve in part (c), which also shows the firm’s marginal cost curve. To maximize profit,
the firm equates market MR with MC, thus finding the profit-maximizing level of output Q3.

Output Q3 must now be divided between the two markets. The firm does this by equating its MC
of the total market with the MR of each individual market:

- Output Level Q1: MC = MR1. This determines output level Q1 in market 1, sold at price P1
(given by the demand curve D1)- ** =

- Output level Q2: MC = MR 2. This determines the output level in market 2, sold at price P2
(given by the demand curve D2).

This shows that:

i i ith relatively inelastic demand
1. A higher price (P1) for the consumer group w_lth relat '
2.A lo%\f:ar ;)rice (P2) for the consumer group with relatively elastic demand.

Note: Third-degree price discrimination results in higher revenues and profits for firms. If proﬁtsj
did n.ot increase, firms would not practice price discrimination.
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supernormal profits at the expense of consumer
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3. Welfare loss for some consumers as
consumer surplus is removed.

4. Some individuals pay higher prices.

5. Low income earners cannot afford the
product.

also improve.

5. EFFICIENCY AND MONOPOLY

In order to understand efficiency in market structures we nee

d to look at TWQ types of

efficiencies:
‘Allocative Efficiency

j’roductiv;. Efficiency

Definition: A]ﬂ)qative efficiency occurs when
firms produce the particular combination of
goods and services that consumers mostly

prefer.
P=MC

Definition: Productive (also known as
technical) efficiency occurs when production
takes place at the lowest possible cost.

e ———

Produétjon at minimum ATC

1. Efficiency and Monopoly | Short-Run
In the short run, the monopolistic comp
productive efficiency. This resu
higher than the optimal (not production a

Its in under allocation o
t the min of AC curve).

etitive firm achieves neither allocative efficiency nor
f resources (P>MC) and average costs are

] Allocative Efficiency Productive Efficiency i
1. Supernormal Profits NO NO
2. Normal Profits ) NO NO
3. Loss NO NO

2. Efficiency and Monopoly | Long-Run
[Same as Short-run]
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6. PE
RFECT COMPETITION VS. MONOPOLY

f———

MP g

Caost and ewiue

PCPb

1=+ *4 Monopoly prics and ]

“=°* outpul equiinum |

+==+ Perfect comp price and
-3 cutput squilibrium
7] Deaowegn| toas

MC lIndustry S cusve)

ATC '

- Ds AR
0 MO PCQ
Output

1. Price in Monopoly is higher than it is in
2. Monopoly output is low

3. Monopolist makes short-
profits in the short-run.

4. Perfect competition is
5. The monopolist captu
6. If the perfectly comp

Advantages and Disadvantages of Monopoly

perfect competition

run and long-run abnormal profits whereas perfect competition can only make abnormal

productively and allocatively efficient whereas a monopoly is not
res the consumer surplus and turns it into abnormal profits.

etitive firm is tumed into a monopoly there would be a welfare loss of area X (e, c, MC=MR)

3

Advantages

Disa;ﬁa:ntages

1. Normal Profits: A monopolist cannot always make
abnormal profits. It depends on how high its costs are. In

situations with high fixed costs it might only make
normal profits. ;

2. Stable Profits: In competitive markets profits are
unstable however for a monopoly profits are certain
which allows them toplamfuture investments and
finance it through they guaranteed profits. This offers
customers better products and workers more security.

3. Research and Development: Since they eam abnormal
profits these firs can invest in R&D and can be .
involved in product and process innovation lower their

AC per unit.

4_Lower Prices: Since the firms would be experiencing
EOS they can pass the benefits of inn9vation to the
consumer either in the form of low prices greater
consumer choice.

: Monopoles since they are
technically and financially superior they are more

1. Not efficient: Neither productive nor allocative
efficiency is achieved.

2. Under allocation of resources: Higher prices are
charged and lower quantities of output are produced than
under competitive conditions.

3 X-inefficiency: There may be higher production costs
due to lack of price competition (X-inefficiency). They

lack the incentive for process innovation.N g} 9 th
on (o Cogk cur

4_Lack of regulation: Many countries they have poor

legal systems and monopiles go unchecked.

: Consumer have to accept
whatever goods and services are produced by the

monopolist. This vimlhe principal of free ente?)rise

W m aV ! n elf"‘e&
F@bez{'c‘j CO"EU'O/Q‘ICO ’

(/7 maovQ «ltn '
regvad ; ot

CS (£ i
1 ot nfa e

Ay

Vel

competitive in the international market.

-
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(g\(‘ofbw‘

v ba over "j
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D ¢ ‘

Definition; l.n\(lQ\\T STABLF ) : E
likely thay othe;i tﬁrfdmonal Mode] of oligoL ly i —

%ﬁ—\%_mn‘ a1 S can enter (he marllcetp?,o‘yr:.‘l lskass,umed. that there are barriers to entry; in reality it is
e @En te ’ e ot Cannot set 5 price hj ’ 1arket in which the existing firm makes only normal profit

abnormal oL barriers 0 entry and jaher than average cost with ing entry, this is because of

Pt{ ?ﬁzs are earne in the shdn rul;cth"s' According 1o the theory of contestable’ markets,
s (even j - 1S attracts firms into the market and in the long-run onl
of perfect Competi ion. Monopoly). Perfectly ane n & ny

2. The nump
er of ﬂrm P .
mMay be many other fir-. o Poung Will vary.

Example: It may be a monopoly at one time and then there
3. Flrms Compete (l‘

Ms competing at other times
ather than collude)

AR & | ey

-— 1N

’
. Note: A
: Situation l:l:rfec_tl)’ cczntestable market is the one in which there costs of entry and exit are zero. In this
€re 1s a high degree of pressure on firms to act competitively. Abnormal profits will act as an

Incentj ing i is li .
ntive to l.)nng In more firms. Entry is likely to lead to lower prices, batter quality services, more
choice and higher output.

Factors of contestability

1. Profits — If profits are high there would be more competition

2. Barriers to entry and exit — If the barriers to entry and exit are low so it is easy to join a market and
leave the market if needed. The industry might suffer from “Hit-and-Run” competition whereby firms
entre when profits are high and level when they fall. This results in incumbent firms to suffer.

Sources of Barrierstoentry\ ~ A A AN

Barrier Description - ldbe
1. Sunk Thest are costs thvested §n alf ind\ﬂstry which cannot be recovered. Decisions s_hou E
Costs | taken while ignoring the sunk costs. These are low if it is cheap to set up a business. (E.g.

' iali i jor i in land etc.)
no specialized equipment needed, no major mve.stment in )

2. Marketing | Lower the marketing costs and lower the brand image of the s:itabhshed brands, lower the

Costs barriers toentry © © b Rl :

3. Previous | If firms in the industry tend to cut prices in the past to prev?nt new comp—iti_tlon (predatory
"’ﬁ"tion' - pricing) then new firms would find it difficult to compete. J

in Contestable Markets - o ot
;.1.:1111::1:: forced to keep excess profits to a minimum, and move towards sales maximization or outp
i

imization rather than profit maximization. In a perfectly contestable market with én unlimited number
g}a;:tglntial entrants, profits would be pushed down to normal profits (where AR = AC)

9]
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Definition | Ohjecti
L ectives: These are aim of an organization.

I Lucmnﬁ ]

This i i 1. Profit Maximization _
S & poInt where MC = MR. This is because self-interest is a dominant motive for producers and

consum . . _ ’
attract czr:;p}::?:.veverhso":ie firms still avoid this because they don’t want govt. to intervene, they don’t want to
1hon, they don’t want tod . . . . P d B h ‘o a
inci ama ship with their stakeholders or sometimes there 15
|_principal agent problem etc. ge their relationship

This is appoint where MR = 0. S 2. Salgs Revenue Maximization _
to buy more from known ¢ - Some firms ignore profit and focus on sales maximizatio :
means high salaries in so Orflp:mes?, lenders are more willing to lend to known companies and hlgh'sa!e:s.
positive it will . me industries. These firms tend to produce till the MR is positive because '[1'” itis

contribute to the total revenue. The diagrams can show that this objectives can be achieved with
normal, supernormal and losses.

on as customers prefer

B 3, Output Maximization -

;Il;llll’sezlss: ]Ft’:'sr:;:’l'}‘:‘:rnenAR = Ag. This is the point where the firm makes normal profits and would seek to

However the £ - Firms enjoy EOS, they are is Iess.chance to be taken over and brand image improves.
ver the firm will not produce beyond this point. The firm will spend most of its money on increasing its

production rather than on advertising, however its revenue sales might be less than sales maximization.

MCQs 4. Gwhi\lgiiimhation

This objective believes that the firms expand in new markets through the creation of neCV:products and new
demzfn'd.. The firms achieve this objective through either internal growth or external growth (mergers and
acquisitions). The aim is to enjoy economies of scale. There are THREE types of external growth:

1. Horizontal
Definition: This is a merger between firms that are dealing in similar products at the same stage of production.

For example, if two car manufacturers join hands, it would be classified as horizontal integration. This
et and leads to higher profitability since prices can be increased and

decreases competition in the mark
r it can lead to conflicts between members since workers come from

marketing can be reduced howeve
different corporate cultures which can cause diseconomies of scale.

2. Vertical (Backward and Forward)
Definition: When merging, firms are engaged in different stages of the same production process, it is called

vertical integration. This could be a further categorized into: _ '
(1) Forward vertical integrating, e.g. the owner of a cotton field taking over a textile mill

(2) Backward vertical integration, e.g. the owner of a petrol station taking over an oil refinery.
keep a check on quality related issues since the manufacturer owns and

The advantage is that it is easier to ' :
controls the source of raw material also. The level of customer service can also be raised however lack of

expertise in the other sector might Jead to management problems.

3. Conglomerate Integration . A.
: fication, is formed when two or more unrelated firms are involved in the

Definition: Also, known as diversi . :
) ar products at different stages of production, e.g., a car

i ly dissimil
merger or takeover. They deal in totally . . cg
manifacturer takes over a restaurant. Examples of conglomerates include, P&G, Unilever, Virgin Group,

Alphabet Inc. etc. The advantage is that these companies spread their risk and leads to innovation and creation
of I;ynergies. As even if one industry isn’t performing well the company can make profit from the other

industry however the business can lack focus. This might lead to business to shift from their original products
and focus on the ones that are in development. This can potentially harm the company’s image.
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5. Utility Maximization

Principal-agent Problem
Definition: This is a situation in w
(Agents) will act in their best inter
company the shareholders (princ
their behalf. Hence there is a divo

hich people (Principal) cannot be sure that thase who act on their behalf
ests, as a result of asymmetric information. Example: In a public limited
ipal) delegate the day-to-day activities to managers (agents) who act on
rce between ownership and control.

In companies where there is a divorce between ownership and control the managers and owners have different
objectives. Hence managers tend to maximize their own utility like increasing salaries, increasing employees,
increasing perks and start making discretionary investments which means making investments that are close to
his heart rather than advancing or promoting the company’s objectives and rather than focusing on profit
maximization.

Or € conOMe.

6. Satisficing

— Since the fimm have several stakeholders some firms ten everyone in.to consi : _' before taking
a decision. The overall objectives of an organization will be the result of discussion, negotiation al:ld.
bargaining with all the stakeholders. The end result would be a compromise where nothing is maximized and
the firm aims to satisfice these different groups and still function. S

— Another situation of this can be that managers simply do not pus or profit maxi tion because
they like a quiet life. They will just make enough profits just to keep shareholders off their backs. This can lead

to x-inefficiency, ) _

' @wgu
ford exp lof
e

et WMo

CosVRevenue/Price

 Maximum \ Cuantity
fit
Growth maximizing
Maximum highes! output
ravenue AR=AC
MR=0
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3. PRICING STRATEGIES

Pricing is a vital business decision making in marke :
it wants to control the rate of inflation. Different firms have di
— Perfect Competition: Price takers, hence the market decides the price for ll_wm '

— Imperfect Markets: They can choose their price and output but are constrained with the de
might choose to maximize their profits but might have other objectives as well.

A2/ MICRO — INOTES| — CHAPTER 3

i 1 t when
ts and price decisions are also 1mpo'rlfmt to the governmen
fTerent power over the pricing:

mand curve. They

Description

Pricing Strategy
1. Profit
Maximization

This is a pricing strategy that sets price on and output where the MC=MR intersect.

2. Marginal Cost
Pricing

Marginal-Cost Pricing is the setting of the price for a product which is based upon the _n?zfrglnal
cost of producing and distributing P=MC. This is usually done in the case of public utilities
where marginal costs are close to zero like public parks. Whether MC-pricing is profitable or
not depends upon the cost of the firm. This is also known as allocative efficient pricing.

—

3. Revenue
Maximization

This the price and output were MR=0. This is also the price where PED equals to unity.

4. Average Cost
Pricing

This is a point where AR = AC. This is also known as output maximization. This is the point
where the firm makes normal profits and would seek to increase its size. Firms enjoy EOS, they
are is less chance to be taken over and brand image improves. Also called break-even pricing.
Note: The firm will not produce beyond this point.

It is a pricing method which sets the price of a product by adding a percentage profit mark-up 1o

5. Full Cost

Pricing average cost or unit total cost (Average variable + Average Fixed Cost). Also known as cost
- plus pricing. -

6. Predatory This is an anti-competitive strategy in which the firm sets price below.

Pricing cost in an attempt to force a ri i rket and t new firms from

entering. This Relps the firm achieve market dominance. Consumers only gain for the short-
term because the firm increases the prices again once it has driven the other firms out of the
market. The success depends on the relative strength of the existing firm and the new firm
entering the market.

Limit Pricing

This strategy assumers that the alread) existing firm has some sort of cost advantage over potential entrants due to
factors like economies of scale.. The objective is to sell products at a price low enough to make it unprofitable for

other players to enter the market.

D ivgrem N

no (;N/WJ}MY .

1 p Lot pmuy '
fop

k3

Oulput

The firm would normally be earning supernormal profits (shown in the diagram above). However, if we assume that
the barriers to entry are weak, the supemnormal profits will attract potential entrants. The existing firm is still not
producing at the minimum but is gaining economies of scale. A new firm then enters producing less amount Q1
because it does not have economies of scale. This entry causes the production to be Qo+Q! and pushing the price
down to P2. The new firm is just making normal profits where the existing firm is still making supernormal profits
however at a lower level than before. Hence the existing firm should have kept the price lower than Po. If the

existing firm charged P2 from the start it would have made the new firm launch with an even lower price. Hence a
such a low price and without economies of scale the new firm would have left the market.
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